
 

  

 

F–2698   

U.G. DEGREE EXAMINATION, NOVEMBER 2019 

Commerce 

Allied : FINANCIAL ACCOUNTING – II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is account current? 

 |h¨¦ PnUS GßÓõÀ GßÚ? 

2. What is meant by average due date? 

 \µõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

3. What is a Receipts and Payments Account? 

 ö£Ö|º ö\¾zxuÀ PnUS GßÓõÀ GßÚ? 

4. What do you mean by Income and Expenditure Account? 

 Á¸Áõ´ ö\»Âß PnUS¨ £ØÔ }Âº AÔÁx ¯õx? 

5. What is Self Balancing System? 

 uõ÷Ú \›UPmk® •øÓ GßÓõÀ GßÚ? 

6. What is Creditor Ledger? 

 PhÜ¢÷uõº ÷£÷µk GßÓõÀ GßÚ? 

7. What is Single Entry System? 

 JØøÓ £vÄ •øÓ GßÓõÀ GßÚ? 
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8. What is Statement of Affairs? 

 {ø» AÔUøP GßÓõÀ GßÚ? 

9. What is Depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

10. List out any two causes for depreciation. 

 ÷u´©õÚ® PnUQkÁuß Cµsk  PõµoPøÍ £mi¯¼kP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The due date for the payment of certain amounts 

are as follows : 

10th Jan 2017 Rs.  2,000 

18th Feb 2017 Rs.  1,200 

5th March 2017 Rs.  600 

12th April 2017 Rs.  800 

21st May 2017 Rs. 1,000 

1st June 2017 Rs. 600 

  Find out Average due date. 

  RÌPsh ÂÁµ[PøÍU öPõsk \µõ\› uÁønz 
|õÎøÚ PnUQkP. 

10th áÚÁ› 2017 ¹.  2,000 

18th ¤¨µÁ› 2017 ¹.  1,200 

5th ©õºa 2017 ¹.  600 

12th H¨µÀ 2017 ¹.  800 

21st ÷© 2017 ¹. 1,000 

1st áúß 2017 ¹. 600 

Or 

 (b) What are the uses of calculation of Interest? 

  Ámi PnUQku¼ß £¯ßPÒ ¯õøÁ? 
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12. (a) You are required to show the different items in the 

Income and Expenditure Account and Balance 

Sheet of the club after taking into account the 

additional information given. 

  To Donations for pavilion Rs. 5,000 

  To Subscriptions for Governor’s party Rs. 2,000 

  To Donations   Rs.1,000 

  Additional Informations : 

  (i) Amount spent on pavilion Rs. 1,000. 

  (ii) Outstanding subscription for Governor’s party 

Rs. 500. 

  RÌPsh ÂÁµ[PÒ GÆÁõÖ Á¸Áõ´ ö\»ÂÚ PnUS 

©ØÖ® C¸¨¦{ø» SÔ¨¤À ÷uõßÖ®. C¸¨¦ {ø»U 

SÔ¨¤ß  

   Thõµ® Aø©¨£uØS |ßöPõøh ¹. 5,000 

   PÁºÚ›ß \¢v¨¤ØPõÚ \¢uõ ¹. 2,000 

   |ßöPõøh    ¹. 1,000 

   TkuÀ uPÁÀPÒ : 

   (i) ThõµzvØS ö\»Ä AÎzu £n®  ¹. 1,000. 

  (ii) PÁºÚ›ß \¢v¨¤ØPõÚ \¢uõÂÀ ö£Ó ÷Ási¯ 

\¢uõ ¹. 500. 

Or 

 (b) What are the uses of Receipts and Payments 

account? 

  Á¸Áõ´ ö\»ÂÚ PnUQß £¯ßPÒ ¯õøÁ? 
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13. (a) Write a short notes on General Ledger. 

  ö£õx ÷£÷µk £ØÔ ]Ö SÔ¨¦ ÁøµP. 

Or 

 (b) List out the advantages of Self Balancing System. 

  uõ÷© \›UPmk® •øÓ°ß |ßø©PøÍ £mi¯¼kP. 

14. (a) From the following, ascertain total purchase : 

 Rs. 

Balance of creditors on 1.1.2017 14,000

Cash paid to creditors 10,000

B/P given 10,000

Discount allowing by them 500

Return outward 3,000

Creditors as on 31.12.2017 25,000

Cash purchases 10,000

  RÌPsh ÂÁµ[PøÍU öPõsk ö©õzu 

öPõÒ•uÀPøÍ PshÔP. 

 ¹. 

1.1.2017 ß £i PhÜ¢÷uõº 14,000

PhÜ¢÷uõºUS ö\¾zv¯ öµõUP® 10,000

C¸¨¦ 10,000

uÒÐ£i AÝ©vzux 500

öÁÎzv¸¨£® 3,000

31.12.2017 CÖv PhÜ¢÷uõº 25,000

öµõUP öPõÒ•uÀ 10,000

Or 
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 (b) From the following particulars, find out the amount 

of opening stock. 

 Rs.   

Purchase 40,000 Rate or gross profit on sales 20%

Sales 60,000 Closing stock Rs. 20,000 

  ¤ßÁ¸® ÂÁµ[PøÍU öPõsk öuõhUP \µUS 
C¸¨¦PøÍ PshÔP. 

 ¹.   

öPõÒ•uÀ 40,000 ö©õzu C»õ£zv¼¸¢x ÂØ£øÚ 20%

ÂØ£øÚ 60,000 CÖv \µUS C¸¨¦ ¹. 20,000 

15. (a) Karthick purchase a machine for Rs. 5,00,000 on 1st  

January 2017. Its estimated useful life is 5 years 

and scrap values Rs. 20,000. It is decided to written 

off depreciation under straight line method. Prepare 

the machine account for 5 years.  

  áÚÁ› 1, 2017 À PõºzvU ¹. 5,00,000 US C¯¢vµ® 
Áõ[QÚõº. PnUQh¨£mh ö\õzvß B°À Põ»® 5 
BskPÒ.  ©ØÖ® CÇ¨¦ ©v¨¦ ¹. 20,000. ÷|º÷Põmk 
•øÓ£i ÷u´©õÚ® PnUQh¨£kQÓx GÚU öPõsk 
5 BskPÐUPõÚ C¯¢vµ PnUQøÚ u¯õ›UP. 

Or 

 (b) What are the advantages of calculation of 

depreciation? 

  ÷u´©õÚ® PnUQku¼ß |ßø©PÒ ¯õøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are the different methods of Interest calculation? 

 Ámi PnUQku¼ß £À÷ÁÖ •øÓPÒ ¯õøÁ? 
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17. From the following income and expenditure and 
additional information, prepare Receipts and Payment 
Account. 

Income and Expenditure Account as on 31.12.2016. 

Expenditure Rs. Income Rs.

To Salaries 4,750 By Subscription 7,500

To Audit fees 500 By Entrance fees 250

To Secretaries honorarium 1,000 By Rent of hall 500

To Printing and Stationary 450  

To Depreciation on equipment 300  

To Surplus 1,250  

 8,250  8,250

 Additional Information : 

 (a) Cash in hand on 31.12.2016 was Rs. 1,600. 

 (b) The salaries outstanding in the beginning and end 

of 2000 were Rs. 400 and Rs. 450 respectively. 

 (c) Audit fees for 2000 still due Rs. 60. 

 (d) The club had equipment in the beginning Rs. 2,600. 

At the end of the year it amount Rs. 2,700 after 

depreciation. 

 (e) Rent of hall still due at the end of 2000 Rs. 100. 

 (f) Subscription due at the end of 1999 and 2000 were 

600 and 750. 

 (g) Subscription received in advance on 1999 and 2000 

were 450 and 270. 

 RÌPsh ÂÁµ[PøÍU öPõsk Á¸Áõ´ ©ØÖ® 
ö\»ÂÚ[PÎß PnUQøÚ u¯õ›UP. 31.12.2016ß £i 
Á¸Áõ´ ö\»ÂÚ PnUS. 

ö\»ÂÚ[PÒ ¹. Á¸©õÚ® ¹. 

\®£Í® 4,750 \¢uõ 7,500

uoUøP¯õÍº Pmhn® 500 ~øÇÄU Pmhn® 250

ö\¯»õÍ›ß ÷©À Fv¯® 1,000 PmihzvØS ÁõhøP 500
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ö\»ÂÚ[PÒ ¹. Á¸©õÚ® ¹. 

Aa]kuÀ ©ØÖ® GÊx¨ ö£õ¸ÒPÒ 450  

AøÓP»ß «x ÷u´©õÚ 300  

E£› 1,250  

 8,250  8,250

 TkuÀ uPÁÀPÒ : 

 (A) 31.12.2016 øP°¸¨¦ öµõUP® ¹. 1,600. 

 (B) öPõk£h ÷Ási¯ \®£Í® öuõhUPzv¼¸¢x A¢u 
Bsiß CÖvÁøµ 2000, ¹. 400 ©ØÖ® ¹. 450 

 (C) uoUøP¯õÍº Pmhn® 2000 C¢u uÁøn •øÓ  
¹. 60. 

 (D) AøÓP»ß «uõÚ  ÷u´©õÚ® A¢u Bsiß 
•iÂØPõÚ ¹. 2,700 \õuÚ[PÎß «uõÚ ÷u´©õÚ® 
¹. 2,600 

 (E) PmihzvØPõÚ ÁõhøP C¢u Bsiß •iÂØPõÚ 
uÁøn •øÓ 2000 ¹. 100. 

 (F) uÁøn C¢u Bsiß •iÂØPõÚ 1999 ©ØÖ® 2000, 

600 ©ØÖ® 750. 

 (G) \¢uõ ö£ÖÁuØPõÚ •ß Tmi÷¯ 1999 ©ØÖ® 2000, 

450 ©ØÖ®270. 

18. Write a various steps for preparation of self balance 
system. 

 uõ÷© \›UPmk® •øÓ°ß £À÷ÁÖ ÁøPPøÍ GÊxP. 

19. From the following particulars, prepare a statement 
showing profit or loss made by her for the year ended 
March 31, 2017. 

 
March 31, 2016

Rs. 
March 31, 2017

Rs. 

Debtors 16,000 19,000 

Stock 12,000 15,000 

Furniture 2,000 4,000 
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March 31, 2016

Rs. 
March 31, 2017

Rs. 

Cash in hand 1,000 1,500 

Creditors 1,200 1,800 

Bank overdraft — 2,000 

 During the year Siva introduced Rs. 10,000 as further 
capital in the business and withdraw Rs. 6,000. 

 ¤ßÁ¸® ÂÁµ[PøÍUöPõsk 31 ©õºa 2017 BsiØPõÚ 
C»õ£ |mh AÔUøPø¯ u¯õ›UP. 

 
©õºa 31, 2016 

¹. 
©õºa 31, 2017

¹. 

PhÚõÎPÒ 16,000 19,000 

C¸¨¦ 12,000 15,000 

AøÓP»ß 2,000 4,000 

øP°¸¨¦ öµõUP® 1,000 1,500 

PhÜ¢÷uõº 1,200 1,800 

Á[Q ÷©À£ØÖ — 2,000 

 ]Áõ öuõÈÀ öuõh[P •uÀ 10,000 

 ]Áõ A¾Á»Pa ö\»ÂØPõÚ 6,000. 

20. ABC Ltd. purchased a machinery on 1st April 2012 for  
Rs. 5,00,000. After having used it for three years it was 
sold for Rs. 1,40,000. Depreciation is to provided every 
year at the rate of 10% per annum on diminishing 
balance methods. According are closing on 31st March 
every year, find out the profit or loss on sale of 
machinery. 

 ABC {ÖÁÚ®, 1 H¨µÀ 2012 À C¯¢vµ® JßÔøÚ 
5,00,000US Áõ[Q, ‰ßÓõsk £¯Ú¨õmkUS ¤ß ¹. 
1,40,000 US ÂØÓx. BskUS 10% SøÓ¢u ö\À C¸¨¦ 
{ø» •øÓ°À ÷u´©õÚ® PnUQk¨£mhx. JÆöÁõ¸ 
Bsk® ©õºa 31® |õÒ PnUS •iUP¨£kÁuõP öPõsk. 
A¢u C¯¢vµ ÂØ£øÚUPõÚ C»õ£ AÀ»x |mhzvøÚ 
Psk¤i. 

 

———————— 


